
日にち： 月 日

名まえ
６

⑥ 定着

L⑤ 15000cm3 =

③ 23ｍL = cm3

② 12000cm3 = L

・ にあてはまる数を書きましょう。（うすい字はなぞりましょう。）

１ 5 0 0 0

5① 5ｍ3 = cm3

m3

cm3

１ 2 0 0 0

cm3

mLLm3

cm3

2 3

4
m3

L

cm3

④ 4ｍ3 = L

cm3

mLLm3

cm3

mLLm3

cm3

mLLm3

cm3

mLLm3

cm3

mL



日にち： 月 日

名まえ
６

⑥ 定着 答え

L⑤ 1515000cm3 =

③ 2323ｍL = cm3

② 1212000cm3 = L

・ にあてはまる数を書きましょう。（うすい字はなぞりましょう。）

１ 5 0 0 0

1 5

5

5 0 0 0 0 0 0

① 50000005ｍ3 = cm3

m3

cm3

１ 2 0 0 0

１２

cm3

mLLm3

cm3

2 3

２３
cm3

4

4 0 0 0
m3

L

mL

L

cm3

④ 40004ｍ3 = L

cm3

mLLm3

cm3

mLLm3

cm3

mLLm3

cm3

mLLm3

L
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